
Multi Tasking (Non-Technical) Staff Examination 2019 
 

Roll No.  

Registration No.  

Name SSC MTS 

Test Venue iON Digital Zone iDZ Chitoura Road 

Test Time 4:00 PM - 5:30 PM 

Test Date 05/08/2019 

 

 

Section : General English 
 

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’. 
 

He did not have few hopes when he contested the election. /No error Ans

   1. He did not have 

 2. few hopes when he 

 3. contested the election 

4. No error 

 
Question ID : 239087901 

Status : Answered 

Chosen Option : 2 

Select the most appropriate option to substitute the underlined segment in the given sentence. If 
there is no need to substitute it, select No Improvement. 
 

The housing problem in Mumbai becomes more serious day by day. 

Ans 1. No Improvement 

2. become 

3. had become 

4. is becoming 

 
Question ID : 239087902 

Status : Answered 

Chosen Option : 4 

Q.3 Choose the most appropriate word that can substitute the given group of words. 
 

The art of creating and arranging dances 

Ans   1. Geology 

 2. Choreography 

 3. Seismology 

 4. Calligraphy 

 
Question ID : 239087920 

Status : Answered 

Chosen Option : 2 

Q.4 Select the most appropriate antonym of the given word. 
 

Current 
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Ans   1. General 

 2. Modern 

 3. Past 

 4. Present 

 

 

 

 

 

 

 
Question ID : 239087916 

Status : Answered 

Chosen Option : 3 

Q.5 Select the most appropriate option to fill in the blank. 
 

I am always ____ for good books. 

Ans  1. looking out 

 2. looking down 

 3. looking after 

 4. looking into 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087923 

Status : Answered 

Chosen Option : 1 

Q.6 Select the most appropriate option to fill in the blank. 
 

My mother is the ____ inspiration in my life. 

Ans 1. big 

2. bigger 

3. biggest 

4. most biggest 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087905 

Status : Answered 

Chosen Option : 3 

Q.7 Select the most appropriate synonym of the given word. 
 

Courteous 

Ans   1. Optional 

 2. Arrogant 

 3. Polite 

 4. Meritorious 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087913 

Status : Answered 

Chosen Option : 2 

Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’. 
 

Sterling is only twenty four but have achieved so much in his professional football career. 

Ans  1. but have achieved so much 

 2. in his professional football career 

 



 3. No error 

 4. Sterling is only twenty four 

 

 

 
 

Question ID : 239087899 

Status : Answered 

Chosen Option : 4 

Q.9 Select the most appropriate meaning of the given idiom. 
 

To feel at home 

Ans  1. To  feel comfortable 

 2. To miss one's home 

 3. To feel out of place 

 4. To be rarely at home 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087918 

Status : Answered 

Chosen Option : 1 

Q.10 Choose the correctly spelt word. 

Ans 1. Foreign 

2. Eddition 

3. Forrward 

4. Enfluence 

 

 

 

 

 

 

 

 

Question ID : 239087922 

Status : Answered 

Chosen Option : 1 

Q.11 Select the most appropriate synonym of the given word. 
 

Infuriate 

Ans 1. Endow 

 2. Enhance 

 3. Enrage 

 4. Engage 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087914 

Status : Answered 

Chosen Option : 2 

Q.12 Select the most appropriate antonym of the given word. 
 

Familiar 

Ans   1. Usual 

 2. Common 

 3. Known 

 4. Strange 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087915 

Status : Answered 

 



Chosen Option : 4 

Q.13 Select the most appropriate option to substitute the underlined segment in the given 
sentence. If there is no need to substitute it, select No Improvement. 

 

Not only the parents but also the children were sad at leaving the house. 

Ans   1. as also 

 2. so even 

 3. and also 

 4. No Improvement 

 

 

 

 

 

 

 

 

 

 
 

Question ID : 239087903 

Status : Answered 

Chosen Option : 4 

Q.14 Choose the correctly spelt word. 

Ans  1. Extravagant 

 2. Extrawagant 

 3. Extravagent 

4. Extrevagant 

 

 

 

 

 

 

 

 

Question ID : 239087921 

Status : Answered 

Chosen Option : 1 

Q.15 Select the most appropriate option to fill in the blank. 
 

I _____ blood in the hospital tomorrow. 

Ans 1. have donated 

2. was donating 

3. will donate 

4. had donated 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087906 

Status : Answered 

Chosen Option : 3 

Q.16 Choose the most appropriate word that can substitute the given group of words. 
 

A violent windstorm 

Ans   1. Temperate 

 2. Drought 

 3. Draught 

 4. Tempest 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087919 

Status : Answered 

Chosen Option : 1 

Comprehension: 

In the following passage some words have been deleted. Fill in the blanks with the help of the 
alternatives given. Select the most appropriate option for each blank. 

 



 

Education makes a person self-reliant. An (1)  person is well equipped to take important 
decisions (2)  life. He is the master of his (3)   and fortune. On the other hand an illiterate 
person (4)  help and guidance at every step. He feels helpless (5)  is at the 
mercy of others. 

SubQuestion No : 17 

Q.17 Select the most appropriate option for blank No. 1. Ans

   1. illiterate 

 2. educated 

 3. wise 

 4. learned 

 
Question ID : 239087908 

Status : Answered 

Chosen Option : 2 

Comprehension: 

In the following passage some words have been deleted. Fill in the blanks with the help of the 
alternatives given. Select the most appropriate option for each blank. 

 

Education makes a person self-reliant. An (1)  person is well equipped to take important 
decisions (2)  life. He is the master of his (3)   and fortune. On the other hand an illiterate 
person (4)  help and guidance at every step. He feels helpless (5)  is at the 
mercy of others. 

SubQuestion No : 18 

Q.18 Select the most appropriate option for blank No. 2. Ans

 1. to 

2. in 

3. at 

4. on 

 
Question ID : 239087909 

Status : Answered 

Chosen Option : 2 

Comprehension: 

In the following passage some words have been deleted. Fill in the blanks with the help of the 
alternatives given. Select the most appropriate option for each blank. 

 

Education makes a person self-reliant. An (1)  person is well equipped to take important 
decisions (2)  life. He is the master of his (3)   and fortune. On the other hand an illiterate 
person (4)  help and guidance at every step. He feels helpless (5)  is at the 
mercy of others. 

SubQuestion No : 19 

Q.19 Select the most appropriate option for blank No. 3. Ans

  1. fate 

 2. luck 

 3. chance 

 4. lot 

 
Question ID : 239087910 

Status : Answered 

Chosen Option : 1 

Comprehension: 
 



In the following passage some words have been deleted. Fill in the blanks with the help of the 
alternatives given. Select the most appropriate option for each blank. 

 

Education makes a person self-reliant. An (1)  person is well equipped to take important 
decisions (2)  life. He is the master of his (3)   and fortune. On the other hand an illiterate 
person (4)  help and guidance at every step. He feels helpless (5)  is at the 
mercy of others. 

SubQuestion No : 20 

Q.20 Select the most appropriate option for blank No. 4. Ans

   1. has needed 

 2. is needing 

 3. need 

 4. needs 

 
Question ID : 239087911 

Status : Answered 

Chosen Option : 4 

Comprehension: 

In the following passage some words have been deleted. Fill in the blanks with the help of the 
alternatives given. Select the most appropriate option for each blank. 

 

Education makes a person self-reliant. An (1)  person is well equipped to take important 
decisions (2)  life. He is the master of his (3)   and fortune. On the other hand an illiterate 
person (4)  help and guidance at every step. He feels helpless (5)  is at the 
mercy of others. 

SubQuestion No : 21 

Q.21 Select the most appropriate option for blank No. 5. Ans

 1. and 

2. unless 

3. though 

4. but 

 
Question ID : 239087912 

Status : Answered 

Chosen Option : 1 

Q.22 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’. 
 

It is easier to preach then to follow. /No error 

Ans   1. to preach 

 2. It is easier 

 3. then to follow 

 4. No error 

 
Question ID : 239087900 

Status : Answered 

Chosen Option : 3 

Q.23 Select the most appropriate option to substitute the underlined segment in the given sentence. If 
there is no need to substitute it, select No Improvement. 

 

The train pass over the long dark tunnel. 

Ans   1. passes into 

 



 2. pass across 

 3. No Improvement 

 4. passed through 

 

 

 

 

 
Question ID : 239087904 

Status : Answered 

Chosen Option : 4 

Q.24 Select the most appropriate meaning of the given idiom. 
 

Go getter 

Ans  1. A real achiever 

 2. One who does the right thing 

 3. One who runs away 

 4. A greedy person 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087917 

Status : Answered 

Chosen Option : 2 

Q.25 Select the most appropriate option to fill in the blank. 
 

Young people from disadvantaged homes look for ______ in government jobs. 

Ans 1. utility 

2. capability 

3. ability 

4. stability 

 

 

 

 

 

 

 

 

 

 
Question ID : 239087924 

Status : Answered 

Chosen Option : 4 

 

Section : General Intelligence & Reasoning 
 

Q.1 उस ßवकuप का चयन कtßजए जो तीसरे पद से उसी #कार संबंßधत है ßजस #कार \सरा पद पहले पद से 

संबंßधत है। 

NPRT : OQSU :: HJLN : ? 

Ans  1. IKMO 

 2. IKNO 

 3. IMKO 

 4. KINO 

 
Question ID : 2390871037 

Status : Answered 

Chosen Option : 1 

Q.2 ßकसी ßवßशB कू ट भाषा म”, ‘BOTANY’ को ‘CQWBPB’ ßलखा जाता है। उसी कू ट भाषा म” ‘INSECT’ 

का कोड Fया होगा? 

Ans  1. JPVFEW 

 2. JPUFEW 



 3. KQWGFX 

 4. KRWGFX 

 
Question ID : 239087653 

Status : Answered 

Chosen Option : 1 

Q.3 ßकसी ßवßशB कू ट भाषा म”, ‘RIP’ को ‘42’ ßलखा जाता है और ‘MOL’ को ‘39’ ßलखा जाता है। उसी 

कोड भाषा म” ‘GAN’ का कोड Fया होगा? 

Ans  1. 21 

 2. 22 

 3. 23 

 4. 20 

 
Question ID : 239087656 

Status : Answered 

Chosen Option : 1 

Q.4 नीचे ßदए ßवकuपT म” से उस सं“या को चुßनए जो ßन’नßलßखत Æ  ृ ृंखला म” #Æ ßच=ह (?) के 5थान पर आएगी। 

279, 277, 273, 267, ? 

Ans 1. 259 

2. 261 

3. 257 

4. 263 

 
Question ID : 239087662 

Status : Answered 

Chosen Option : 1 

Q.5 यßद नीचे दt गयी दो सं“याN को आपस म” बदल ßदया जाता है तो ßन’नßलßखत म” से कौन सा समीकरण सही 

होगा? 

3 तथा 5 

Ans   1. 1 + 9 ÷ 3 + 5 = 9 

 2. 3 + 5 – 4 × 2 = –1 

 3. 6 + 5 × 2 – 3 = 7 

 4. 3 + 4 – 1 × 5 = 2 

 
Question ID : 239087666 

Status : Answered 

Chosen Option : 3 

Q.6 नीचे ßदए गए कथनT और उनके ßनRकषT को ³यान से पढ़”। कथनT म” दt गई जानकारी को सšय मान”, चाहे 

वे सामा=य Wप से ]ृात त*यT से ßभU लगती हT। सभी ßनRकष´ पढ़” और ßफर ßनधा´ßरत कर” ßक ßदए गए 

कौन-से/सा ßनRकष´, कथनT का ताFकक Wप से अनुसरण करता/करते ह*। 

कथन: 

I. सभी P, Q ह*। 

II. कु छ Q, Z ह*। 

III. कु छ Z, T ह*। 

ßनRकष´: 

I. कु छ T, P ह*। 

 



II. कु छ P, Z ह*। 

III. कोई T, Z नही ह*। 

Ans   1. के वल ßनRकष’ II अनुसरण करता है। 

 2. दोनT ßनRकष’ II तथा III अनुसरण करते ह*। 

 3. के वल ßनRकष’ I अनुसरण करता है। 

 4. कोई भी ßनRकष’ अनुसरण नह? करता है। 

 
Question ID : 239087660 

Status : Answered 

Chosen Option : 4 

Q.7 नीचे ßदए गए कथनT और उनके ßनRकषT को ³यान से पढ़”। कथनT म” दt गई जानकारी को सšय मान”, चाहे 

वे सामा=य Wप से ]ृात त*यT से ßभU लगती हT। सभी ßनRकष´ पढ़” और ßफर ßनधा´ßरत कर” ßक ßदए 

गए कौन सा/से ßनRकष´, कथनT का ताFकक Wप से अनुसरण करता/करते ह*। 

कथन: 

I. कु छ लकड़ी कु Fसयां ह*। 

II. सभी कु Fसयां चटाई ह*। 

ßनRकष´: 

I. कु छ चटाई लकड़ी ह*। 

II. कु छ कु Fसयां लकड़ी 

ह*। III. सभी लकड़ी 

चटाई ह*। 

Ans 1. दोनT ßनRकष’ II तथा III अनुसरण करते ह*। 

2. कोई भी ßनRकष’ अनुसरण नह? करता है। 

3. दोनT ßनRकष’ I तथा II अनुसरण करते ह*। 

4. के वल ßनRकष’ I अनुसरण करता है। 

 
Question ID : 239087661 

Status : Answered 

Chosen Option : 3 

Q.8  दो कथन और उसके बाद दो ßनRकष´ I और II ßदए गए ह*। आपको कथनT को सšय मानते \ए ßवचार 

करना है, भले ही वे सामा=यतः ]ृात त*यT से ßभU #तीत होते हT, ßनण´य कर” ßक कौन से ßनRकष´ कथनT का 

ताFकक Wप से अनुसरण करते ह*। 
 

कथन 

क. सभी सेब अंगूर 

ह*। ख. सभी अंगूर 

बेरी ह*। 
 

ßनRकष´ 

I. सभी सेब बेरी ह*। 

II सभी अंगूर सेब ह*। 

Ans  1. के वल ßनRकष’ I अनुसरण करता है। 

 2. या तो ßनRकष’ I या II अनुसरण करता है। 

 3. न तो ßनRकष’ I और न ही ßनRकष’ II अनुसरण करता है। 

 4. के वल ßनRकष’ II अनुसरण करता है। 

 
Question ID : 2390871036 

Status : Answered 

Chosen Option : 1 

Q.9 नीचे ßदए गए ßवकuपT म” से #Æßचहन के 5थान पर आने वाली सं“या ]ृात कtßजए। 

49 86 104 

65 70 88 

 



27 66 78 

87 90 ? 

Ans   1. 74 

 2. 192 

 3. 114 

 4. 84 

 
Question ID : 2390871040 

Status : Answered 

Chosen Option : 3 

Q.10 नीचे ßदए ßवकuपT म” से उस अ¶र यु¹म को चुßनए जो ßन’नßलßखत Æ  ृ ृंखला म” #Æ ßच=ह (?) के 

5थान पर आएगा। 

MR, NU, OX, PA, ? 

Ans   1. RE 

 2. QC 

 3. RC 

 4. QD 

 
Question ID : 239087649 

Status : Answered 

Chosen Option : 4 

Q.11 उस ßवकuप का चयन कtßजए जो तीसरी सं“या से उसी #कार संबंßधत है ßजस #कार \सरी सं“या पहली सं“या 

से संबंßधत है। 

9 : 162 :: 13 :___ 

Ans 1. 290 

2. 330 

3. 390 

4. 338 

 
Question ID : 2390871038 

Status : Answered 

Chosen Option : 4 

Q.12 छ: कार D, F, H, J, L तथा N के =\ कt ओर मुख करके एक व Uृाकार पथ के इद´ – ßगद´ खड़ी कt गयी ह* (जVरी 

नहfi ßक वे इसी Uम म” हो)। H, N के दायfi ओर तीसरी है। J, D के तुरंत बायfi ओर है। F, N के बायfi ओर \सरी 

है। D, F के बायfi ओर \सरी है। कौन-सी कार H के दायfi ओर \सरे 5थान पर खडी है? 

Ans   1. F 

 2. J 

 3. L 

 4. N 

 
Question ID : 239087657 

Status : Answered 

Chosen Option : 3 

Q.13 उस ßवकuप का चयन कर” जो तीसरे शǎद से उसी तरह से संबंßधत है जैसे \सरा शǎद पहले शǎद से संबंßधत है। 

रबड : प”ßसल :: कु सT : ? 

 



Ans   1. बैठना 

 2. लकड़ी 

 3. मेज 

 4. ’लाß5टक 

 
Question ID : 239087651 

Status : Answered 

Chosen Option : 1 

Q.14 छ: अßभनेता C, E, G, I, K तथा M के =\ कt ओर मुख करके एक व Uृाकार मेज के  इद´ - ßगद´ बैठे \ए ह* 

(जVरी नहfi ßक वे इसी Uम म” हो)। M, G के बायfi ओर \सरा है। E, C के दायfi ओर \सरा है। K, M के तुरंत बायfi 

ओर है। 

E के तुरंत दायfi ओर कौन बैठा \आ है? 

Ans   1. G 

 2. I 

 3. K 

 4. M 

 
Question ID : 239087658 

Status : Answered 

Chosen Option : 1 

Q.15 ßन’नßलßखत ßवकuपT म” से उस अ¶र यु¹म को चुßनए, ßजनम” वही संबंध है, जो नीचे ßदए गए अ¶र यु¹म म” है। 

GOM : JSR :: ? 

Ans 1. COB : FSG 

2. LAP : OFU 

3. MOP : PSV 

4. RAT : UFY 

 
Question ID : 239087652 

Status : Answered 

Chosen Option : 1 

Q.16 उस शǎद यु¹म का चयन कtßजए ßजसके दोनT शǎद आपस म” उसी #कार संबंßधत है ßजस #कार नीचे ßदए 

गए शǎद यु¹म के दोनT शǎद आपस म” संबंßधत है। 

गबन करना : \Wपयोग 

Ans  1. दोषी ठहराना : फं साना 

 2. \राचार : Æाापार 

 3. पछताना : अपराध 

 4. ßनद”षी ठहराना : द6ड देना 

 
Question ID : 2390871035 

Status : Answered 

Chosen Option : 3 

Q.17 नीचे ßदए ßवकuपT म” से उस सं“या को चुßनए जो ßन’नßलßखत Æ  ृ ृंखला म” #Æ ßच=ह (?) के 5थान पर आएगी। 

8, 8, 16, 48, ? 

Ans  1. 192 

 



 2. 190 

 3. 196 

 4. 216 

 
Question ID : 239087663 

Status : Answered 

Chosen Option : 1 

Q.18 उस सही ßवकuप का चयन कtßजए जो Æ  ृ ृंखला को पूरा करेगा। 

72, 83, 95, 108, ___ 

Ans   1. 120 

 2. 122 

 3. 121 

 4. 123 

 
Question ID : 2390871039 

Status : Answered 

Chosen Option : 2 

Q.19 पााँच ßवषय R, T, V, X तथा Z (जVरी नहfi ßक वे इसी Uम म” हो) सोमवार से शुUवार तक पढ़ाये जाते ह*। एक 

ßदन म” के वल एक ही ßवषय पढाया जाता है। R से पहले के वल Z पढ़ाया जाता है। X से पहले T पढ़ाया 

जाता है। T बुधवार को नही पढ़ाया जाता है। V से पहले ßकतने ßवषय पढ़ाये जाते ह*? 

Ans 1. 1 

2. 3 

3. 0 

4. 2 

 
Question ID : 239087659 

Status : Answered 

Chosen Option : 4 

Q.20 

 

 

 

Ans   1.  

 2.  

 3.  

 4.  

 
Question ID : 239087665 

Status : Answered 

Chosen Option : 3 

Q.21 ßन’नßलßखत समीकरण को सही बनाने के ßलए ßकन दो सं“याN को आपस म” बदलना होगा? 

5 × 8 + 7 – 3 = 14 

Ans   1. 3 तथा 7 

 2. 8 तथा 5 

 

https://pdfinbox.com/


 3. 7 तथा 8 

 4. 8 तथा 3 

 
Question ID : 239087667 

Status : Answered 

Chosen Option : 4 

Q.22 उस ßवकuप का चयन कर” जो तीसरी सं“या से उसी तरह से संबंßधत है जैसे \सरी सं“या पहली 

सं“या से संबंßधत है। 

17 : 289 :: 31 : ? 

Ans   1. 1021 

 2. 941 

 3. 1089 

 4. 961 

 
Question ID : 239087664 

Status : Answered 

Chosen Option : 4 

Q.23 उस ßवकuप का चयन कर” जो तीसरे शǎद से उसी तरह से संबंßधत है जैसे \सरा शǎद पहले शǎद से संबंßधत है। 

कपडा : ßमल :: फसल : ? 

Ans 1. मFका 

2. Pाैस 

3. फै Fटरी 

4. खेत 

 
Question ID : 239087650 

Status : Answered 

Chosen Option : 4 

Q.24 ßकसी ßवßशB कू ट भाषा म”, ‘PLANTS’ को ‘QNBPUU’ ßलखा जाता है। उसी कू ट भाषा म” 

‘KIDNEY’ का कोड Fया होगा? 

Ans  1. LKEPFA 

 2. LKFPFA 

 3. MLEQGE 

 4. MLFQGB 

 
Question ID : 239087654 

Status : Answered 

Chosen Option : 1 

Q.25 ßकसी ßवßशB कू ट भाषा म”, ‘POLE’ को ‘48’ ßलखा जाता है और ‘ROG’ को ‘40’ ßलखा जाता है। 

उसी कोड भाषा म” ‘TIP’ का कोड Fया होगा? 

Ans   1. 48 

 2. 45 

 3. 35 

 4. 44 

 



Question ID : 239087655 

Status : Answered 

Chosen Option : 2 

 

Section : Numerical Aptitude 
 

Q.1 

 

Ans 1.  

2.  

3.  

4.  

Question ID : 239087789 

Status : Answered 

Chosen Option : 2 

Q.2 

 

Ans 1. 

 
2. 

 
3. 

 
4. 

 

Question ID : 239087794 

Status : Answered 

Chosen Option : 4 

Q.3 

 

 
Ans 

1. 

 

2.  

3.  

4.  

Question ID : 239087793 

Status : Answered 

Chosen Option : 2 

Q.4 

 

Ans 1.  



2.  

3.  

4.  

Question ID : 239087786 

Status : Answered 

Chosen Option : 1 

Q.5  

Ans   1.  

 2.  

 3.  

 4.  

 
Question ID : 239087774 

Status : Answered 

Chosen Option : 3 

Q.6 

 
Ans 1. 

2. 
 

3. 
 

4. 

 
Question ID : 239087784 

Status : Answered 

Chosen Option : 1 

Q.7 

 
Ans   1.  

 2.  

 3.  

 4.  

 
Question ID : 2390871056 

Status : Answered 

Chosen Option : 2 

Q.8 

 
 

Ans   1.  

 2.  

 3.  

 



 4.  

Question ID : 239087795 

Status : Answered 

Chosen Option : 2 

Q.9 

 

Ans  1.  

 2.  

 3.  

 4.  

 
Question ID : 239087787 

Status : Answered 

Chosen Option : 1 

Q.10 

 

 
Ans 

1. 

 

2. 

 

3. 

 

4. 

 
 

Question ID : 239087775 

Status : Answered 

Chosen Option : 2 

Q.11 

 
Ans   1.  

 2.  

 3.  

 4.  

 
Question ID : 239087788 

Status : Answered 

Chosen Option : 3 

Q.12 

 

 
 

Ans  1.  

 2.  

 



 3. 

 4.  

 
Question ID : 239087780 

Status : Answered 

Chosen Option : 1 

Q.13 

 

 

 
 

Ans 

1. 

 

2.  

3.  

 4. 

 
Question ID : 239087776 

Status : Answered 

Chosen Option : 2 

Q.14 

 

Ans 1. 

2. 
 

3. 
 

4. 

 
Question ID : 239087792 

Status : Answered 

Chosen Option : 4 

Q.15 

 
Ans  1.  

 2.  

 3.  

 4.  

 
Question ID : 239087779 

Status : Answered 

Chosen Option : 1 

Q.16 

 

Ans  1.  

 



 2.  

 3.  

 4.  

 
Question ID : 239087790 

Status : Answered 

Chosen Option : 1 

Q.17  

Ans   1.  

 2.  

 3.  

 4.  

 
Question ID : 239087782 

Status : Answered 

Chosen Option : 3 

Q.18 

 
Ans 1. 

 
2. 

 
3. 

 
4. 

 

Question ID : 239087778 

Status : Answered 

Chosen Option : 1 

Q.19 

 
Ans   1.  

 2.  

 3.  

 4.  

 
Question ID : 239087785 

Status : Answered 

Chosen Option : 3 

Q.20 

 
Ans 1.  

2.  

3.  

 



4.  

Question ID : 2390871058 

Status : Answered 

Chosen Option : 4 

Q.21 

 

Ans 

1. 

 

2.  

3.  

4.  

Question ID : 239087791 

Status : Answered 

Chosen Option : 4 

Q.22 

 

Ans 1. 
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3. 
 

4. 

 
Question ID : 239087783 

Status : Answered 

Chosen Option : 1 

Q.23  

Ans  1.  

 2.  

 3.  

 4.  

 
Question ID : 239087781 

Status : Answered 

Chosen Option : 3 

Q.24 

 
Ans  1.  

 2.  

 3.  

4. 

 



 
Question ID : 2390871057 

Status : Answered 

Chosen Option : 1 

Q.25  

Ans   1.  

 2.  

 3.  

 4.  

 
Question ID : 239087777 

Status : Answered 

Chosen Option : 4 

 

Section : General awareness 
 

Q.1  मुगल काल म” सं5क  त से फारसी म” अनूßदत महाभारत को _ नाम से जाना जाता है। 

Ans 1. तूतीनामा 

2. शाहनामा 

3. र मनामा 

4. बादशाहनामा 

 
Question ID : 239087547 

Status : Answered 

Chosen Option : 3 

Q.2 लॉ=ग वॉक टू #tडम' ßकसकt आšमकथा है? 

Ans 1. कोफ़t अffाान 

2. जॉन एफ कै नेडी 

3. नेuसन मंडेला 

 4. अ#ााहम Yलकन 

 
Question ID : 239087529 

Status : Answered 

Chosen Option : 3 

Q.3 ßन’नßलßखत म” से कौन 15वी शताǎदt के दौरान असम म” वैRणव सं#दाय के मु“य समथ´को म” से एक था? 

Ans   1. जयदेव 

 2. घासीदास 

 3. रायदास 

 4. शंकरदेव 

 
Question ID : 239087546 

Status : Answered 

Chosen Option : 2 

Q.4 2019 म” ßन’नßलßखत म” से ßकस 5तूप को 'राBृीय महšव का संरß¶त ¶ृेff' घोßषत ßकया है? 

Ans  1. चौखंडी 5तूप 



 2. धमेख 5तूप 

 3. के सßरया 5तूप 

 4. रामभर 5तूप 

 
Question ID : 239087524 

Status : Answered 

Chosen Option : 1 

Q.5 ßन’नßलßखत म” से ßकस राuय सरकार ने जून 2019 म” कारखाना अßधßनयम 1948 म” संशोधन को मंजूरी दt 

है? Ans  1. गोवा 

 2. महाराB 

 3. गुजरात 

 4. के रल 

 
Question ID : 239087535 

Status : Answered 

Chosen Option : 3 

Q.6 भारतीय संßवधान के ßकस अनुšछेद म” अ5प Cयता उ=मूलन के ßवषय म” उuलेख ßकया 

गयाहै? Ans 1. अनुšछेद 16 

2. अनुšछेद 21 

3. अनुšछेद 25 

4. अनुšछेद 17 

 
Question ID : 239087536 

Status : Answered 

Chosen Option : 4 

Q.7 2018 तक कt ß5थßत के  अनुसार, कोको बीज का सबसे बड़ा उšपादक ___ है। 

Ans 1. #ााजील 

2. Fयूबा 

 3. इंßडया 

 4. आइवरी को5ट 

 
Question ID : 239087543 

Status : Answered 

Chosen Option : 1 

Q.8 भारत कt उस एकमाff मादा ऑरंगुटन का नाम Fया था ßजसकt म šयु ओßडशा के ßचßड़याघर म” \आ 

था? Ans   1. ßपffाी 

 2. ßटffाी 

 3. ßबffाी 

 4. ßगffाी 

 
Question ID : 239087540 

Status : Answered 

Chosen Option : 3 

 
 



Q.9 2018 म” ßन’नßलßखत म” से आाँख के ßकस भाग को वै]ृाßनकT @ृारा 3D मुß\त ßकया गया है? 

Ans   1. आइßरस 

 2. ल”स 

 3. रेßटना 

 4. कॉ£नया 

 
Question ID : 239087542 

Status : Answered 

Chosen Option : 2 

Q.10 ßन’नßलßखत म” से कौन-सा बuलेबाज 20,000 अंतरराBृीय रन बनाकर सबसे तेज गßत से रन 

बनाने वाला बuलेबाज बन गया? 

Ans  1. ßवराट कोहली 

 2. रोßहत शमा’ 

 3. ßशखर धवन 

 4. एम.एस धोनी 

 
Question ID : 239087527 

Status : Answered 

Chosen Option : 1 

Q.11 म³यकालीन भारत के  संदभ´ म”, ßन’नßलßखत यु¹म म” से कौन-सा यु¹म सही है? 

Ans 1. माक” पोलो - मोरोFको 

2. अल-ßबVनी - तुक£ 

3. Æााां5वा ब£नयर - 5पेन 

4. \आतˇ बारबोसा - पुत’गाल 

 
Question ID : 239087548 

Status : Answered 

Chosen Option : 1 

Q.12  एक हॉस´पावर म” ßकतने वॉट होते ह*? 

Ans   1. 766 वॉट 

 2. 746 वॉट 

 3. 756 वॉट 

 4. 736 वॉट 

 
Question ID : 239087541 

Status : Answered 

Chosen Option : 2 

Q.13 भारतीय संßवधान म” =याßयक पुनरावलोकन कt शßU और =यायपाßलका कt 5वतंffता का #ृावधान ßकस देश से 

ßलया गया है? 

Ans   1. ऑ5Şाेßलया 

 2. जम’नी 

 3. जापान 

 4. अमेßरका 

 



Question ID : 239087537 

Status : Answered 

Chosen Option : 4 

Q.14 धातुN के साथ जलßमßÆत अ’लT कt अßभßUया होने पर कौन-सी गैस उšपU होती 

है? Ans   1. नाइŞाोजन 

 2. हाइŞाोजन 

 3. काब’न डायऑFसाइड 

 4. ऑFसीजन 

 
Question ID : 239087538 

Status : Answered 

Chosen Option : 2 

Q.15 जून 2019 तक कt ß5थßत के अनुसार, भारतीय ओलंßपक संघ के अ³य¶ कौन ह*? 

Ans   1. राजीव मेहता 

 2. नारायण रामचं\न 

 3. अभय Yसह चौटाला 

4. नर”\ ब7ाा 

 
Question ID : 239087528 

Status : Answered 

Chosen Option : 4 

Q.16  के  =\tय बजट 2019 के   अनुसार, सोना और अ=य मूuयवान धातु पर सीमाशुuक 10% से बढाकर __ कर 

ßदया गया है। 

Ans 1. 0.105 

2. 0.11 

3. 0.12 

4. 0.125 

 
Question ID : 239087533 

Status : Answered 

Chosen Option : 2 

Q.17 ßन’नßलßखत म” से कौन-सा पौधा bृायोफाइट 

है? Ans  1. मॉस 

 2. एलगी 

 3. फन’ 

 4. साइकस 

 
Question ID : 239087539 

Status : Answered 

Chosen Option : 1 

Q.18 ßन’नßलßखत म” से कौन भारत रšन से स’नाßनत नहfi है? 

Ans   1. मोरारजी देसाई 

 2. एम.जी. रामाचं\न 

 



 3. €याम Pसाद मुख़जf 

 4. ßवनोबा भावे 

 
Question ID : 239087530 

Status : Answered 

Chosen Option : 3 

Q.19 ßन’नßलßखत म” से ßकस नदt पर 'नागाजु´न सागर बांध' ß5थत है? 

Ans   1. गोदावरी 

 2. कृ Rणा 

 3. कावेरी 

 4. महानदt 

 
Question ID : 239087545 

Status : Answered 

Chosen Option : 2 

Q.20 ßन’नßलßखत म” से _____ पूवT घाट कt सबसे ऊं ची चोटt है। 

Ans 1. डो\ााबे\ाा 

2. महे=\ßगßर 

3. कोलाßरबे\ाा 

4. अनाइमुडी 

 
Question ID : 239087544 

Status : Answered 

Chosen Option : 2 

Q.21 ßन’नßलßखत म” से कौन-सी पु5तक चेतन भगत @ृारा ßलßखत नहfi है? 

Ans 1. रेवोलुशन 2020 

2. मेYकग इंßडया ऑसम 

3. वाइज एंड अदरवाइज़ 

 4. वन इंßडयन गल’ 

 
Question ID : 239087531 

Status : Answered 

Chosen Option : 1 

Q.22 ब*क ऑफ बड़ौदा' का मु“यालय कहााँ ß5थत 

है?    Ans   1. पुणे 

 2. कोलकाता 

 3. वडोदरा 

 4. मंुबई 

 
Question ID : 239087532 

Status : Answered 

Chosen Option : 4 

Q.23 यूको ब*क कt टैगलाइन Fया है? 

Ans 
 



 1. वेयर एवरी इंßडßवßजअल इज़ कßमßटड  

 2. फे थफु ल एंड Æाे =डली 
 

 3. ऑनस’ योर Ş5ट 
 

 4. गुड पीपल टू ब*क ßवद 
 

 
Question ID : 239087534 

 Status : Answered 

 Chosen Option : 3 

Q.24 ßन’नßलßखत म” से कौन बांसुरी वादक है? 
 

Ans  1. हßरPसाद चौरßसया 
 

 2. जाßकर \सैन 
 

 3. ßशव कु मार शमा’ 
 

 4. रßव शंकर 
 

 
Question ID : 239087525 

 Status : Answered 

 Chosen Option : 1 

Q.25 भारत के ßकस राuय म” माओšसु उšसव मनाया जाता है? 
 

Ans 1. ß7पुरा  

2. पß¶म बंगाल 
 

3. नागाल*ड 
 

4. असम 
 

 
Question ID : 239087526 

 Status : Answered 

 Chosen Option : 4 
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